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1 Which cell structure can be seen only with an electron microscope?

A cell surface membrane
B chromosome
C nucleolus
D

vacuole

2 Which is a feature of all prokaryotic cells?

A absence of cell surface membrane
B division by mitosis

C presence of cellulose cell wall

D

presence of ribosomes

3 Alymphocyte has a diameter of 1 x 1072 millimetres (mm).
What is the diameter in nanometres (nm)?

A 1x10' B 1x10? c 1x10° D 1x10*

4  Which plan diagram of a transverse section of a leaf correctly shows the position of xylem and
phloem as well as the fact that the palisade mesophyll is twice as thick as the spongy mesophyll?

A B
- xylem - phloem
—— phloem ——— xylem

D

C
- xylem - phloem
~— phloem ~—— xylem
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5 The photomicrograph of a cell has a 2cm scale line labelled 5 um.

3

—

Sum

What is the magnification of the photomicrograph?

A

6 Whatis a function of the smooth endoplasmic reticulum?

A

B
Cc
D

1x10° B 2x10°

protein synthesis
protein transport
steroid synthesis

steroid transport

C 4x10°

D 5x10°

7 Which combination of bond types correctly shows the weak and strong bonds that hold a
molecule of protein in shape?

types of bond
hydrogen disulfide ionic
A strong strong weak
B strong weak strong
C weak strong strong
D weak strong weak
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8 Which statement is true for cellulose, but not true for protein?
A ltis found in cell surface membranes.
B Itis synthesised from identical sub-units.
C ltis used as an energy source.
D

It may be a structural component.

9 The diagram shows a triglyceride molecule that has been partially hydrolysed.

What will be the products of the total hydrolysis of the molecule shown?

A a molecule of glycerol and a saturated fatty acid molecule only

B a molecule of glycerol and an unsaturated fatty acid molecule only

C a molecule of water, a molecule of glycerol and a saturated fatty acid molecule

D a molecule of water, a molecule of glycerol and an unsaturated fatty acid molecule

10 The diagram shows a tripeptide molecule.
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At which two points will hydrolysis occur to release three amino acids?

A 1and?2 B 1and3 C 2and3 D 2and4
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